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///Q\ Cost Management o

pn

A g7 <
Time: 3 hrs. N/ b /&L@x Marks:80
té‘/l,‘ nswer any FOUR full questions from Q.No.1 to. %)No 7
./ Question No. 8 is compulsory. /\

a ‘centre? <\ (02 Marks)
b. Distinguish bet ost control and cost reduction. =/ (06 Marks)
c. The following information at 50% capacity is given. Prepayre&ai&xnble budget and forecast
the profit or loss at 692//\(0% and 90% capacity. \\%
N\~ Particulars Expeiises QO%
AN capicity/(Rs.)
Fixed expenses> ies N 50,000
ent ind taxes /;7,.\‘§0,000
Dep iation
Adrm%x;(rﬁtlve expenseg sv\ / 70,000
Variable expenses: Mat v 2,00,000
Labout Q 0) 2,50,000
Others 67,/;»{5\ = 40,000
Semi-variable expenses: Repairs ~ 1,00,000
Indirect labour 1,50,000
Others. ¥ $ 90,000
Estimated sales at various Jevels-bfcapdcity are:
Capacity >’  ©Os1 Sales (Rs.)
60%: s ;; 11,00,000
ke e R Y ,00,000
90%) (o 00,000
It is estimated that fixed gxpﬁlses will remain c(ﬁ}n) at all capacities. Semi-variable
expenses will not chan {}ze\t/Ween 45% and 60% capaﬁa{tyzylll rise by 10% between 61%
and 75% capacity, a ﬁi»\ f;(crease of 5% when capacn @ s 75%. (08 Marks)

State the merits of act ased costing. _ (02 Marks)
Discuss the classifieat n of overheads according to elements a@nctlons (06 Marks)
¢. ABC Ltd., man@é és and sells printers. The following data @%lable for the quarter
ending 31-03-20.

g

ax;t\imﬂars 31-03-2017 1-01-2017 - b
\ ’/“7 No. of units | Rate/unit | No. of units | Rate/unit/; /?)
Rawvnatenals 20 T 30 1200 Y7o
"""""" 10 2670 20 2000 |\ D
& (W inished goods 18 ? 20 3000 | )
Other. i infofmation: \~//j’ S
DI \P“plrchase of raw materials 100 units at Rs.1400 p.u. A
Camage inwards 10% of value of materials purchased. © Sjﬁ
\{ll)\ Direct wages Rs.96000. & o)
£=-fv)  Outstanding wages Rs.2000. Or

v)  Factory expenses Rs.46000.

vi) Office expenses Rs.58800.

vii) Marketing expenses Rs.600 p.u.

viii) Profit is 10% on selling price.

ix) Sale of scrap 2 units at Rs.250 p.u.

Prepare a cost sheet showing the maximum breakup. (08 Marks)
10of3
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wia' ol s =
3 a the limitations of traditional costing. o o {QPZ/ Marks)
b.'E he following information compute: \\x@) )
i aterial cost variance (@
ii) ial price variance oY
iii) @ mix variance O
R Standard Actual (X~
Zég“ SR Qty | Unit price | Total | Qty | Unit price “Fotal
o ke | R | Rs) | (kes) ((%\\V Rs)
Fial A | 10 2 20 5 3 1
M (@‘2 20 3 60 10 @ 60
Materi 20 6 120 115  ¥Av<= 75
Total S0 |4 200 [30 Y5\ 150
N NN (06 Marks)
g

’ \ : ’ 5 i

“Accounting system b useless if the business S| system of segment reporting.

Elucidate the statement i h’eﬁght of requisites of g orting system. (08 Marks)
S

/‘\jfa\
AN
A

4 a. Statethe user groups of segme:%%zp“orting. Y (02 Marks)
b. “Cost accounting is superior to »ﬂ'g?l accounting’. Do you agree? Discuss. (06 Marks)
c. The following particulars relate tQ, nuég:g?ing company which has three production

departments A, B and C and two se%%e‘@st\ ents x and y.
Production dept’ Service dept
HocTouEeN .1 X | Y
Primary distribution | 6300_"7400_{2800 | 4500 | 2000
The company decided to charge t{g\_sér)vice @}tment costs on the basis of the following
percentages. \v/~ o
Service Productioirdept. | Servieg-dept.
departments | A | B~ C | X [(&Y
X 40%(30% [ 20% | - | 0%
b { 3,0}7/;%:%3% 20% | 20% - z ig)
Find the total overhea@sﬁ/g;’oduction departments by u /
i) Simultaneous equation method. ﬁ_@
ii) Repeated distribution/method. \\ (\ (08 Marks)
%) <,
5 a. Howdo you cz:%% ‘the machine hour rate? 2 ’,_Q\ (02 Marks)
b. Explain the stepsswhich are necessary for the successful implenﬁﬁf"fion of a budgetary
control syst 73 (7\ (06 Marks)
c. Projwal Efterppises manufactures plastic toys has the following data: ~~»-*1_/{6\,
Materi "'—“—1'&?"."80 p.u. (\O/’é
Labou%ﬁo p.u 977,
Variable tost = Rs.40 p.u. Vﬁ/”j\:;\'?{‘}
Fi@erheads amount to Rs.280000 p.a. selling price of the plasticity is Rs.250) o
termine the number of plastic toys to be manufactured and sold in a yeﬁ%’s"?@break
N even. t7"'17"/;:-:/ O)

&1\1) How many plastic toys have to be made and sold to make a profit of Rs.70000 per.yéar?

iii) If the sale price is reduced by Rs.20, how many plastic toys have to be sold to
break even? (08 Marks)
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}pn the following, determine the margin of safety, profit = Rs.48000, selling price

"/p,gf;—“‘\ 1}5.18, direct material = Rs.8 p.u and direct labour — Rs.4 p.u. (¢S (02 Marks)
Whatare factors to be taken into consideration while designing a costingc sstem? Explain
briefly; A\ o (06 Marks)
What Fpu understand by activity based costing? Explain the @\;eﬁﬁves and steps
involved-jn-activity based costing. ( ~N\ (08 Marks)
State the ob}b}f ives of cost audit. zy\ (02 Marks)
Distinguish b absorption costing and marginal costing. )J\§h) (06 Marks)
A companies hle budget at various levels of production reyeals the following:

Output\[’SP (p.u) | Semi variable costs Variablgeosts/ | Fixed costs
(units) (Rs.) RD\V/ (Rs.)
30000 | 2474 150000 8000 142000
60000 ;. <\<,\ E 150000 @8\1 0 142000
90000 20 /S\) 170000 N 298000 142000
120000 18 \p_~ 170000 (< (},;\{679000 142000
150000 16 % 200000 (5: Y&if 778000 142000
180000 14 27200000 V7 1902000 142000
You are required to: TREE (0~

¢ NI
i) Prepare a schedule showing the 't if&{is\x%{'ial costs and incremental revenue.
ii) At what level should the compan sét its level of production?

iii) What selling price is recommended by you in order to maximize the profits? (08 Marks)

R
CASE STUDY: S a0y
{\7“? o
Bangalore manufacturing compzﬁgy‘\g{ven you th {é@owing information:
Particulars ) Produet:A (Rs.) Product B (Rs.)
Fixed o/h Rs.10000 p.a. =7 &/ 2
D/M p.u. (direct materi &Q\_; 29,2;) 25
D/L p.u. (direct labou&’/g : 16'({:(?@ _ 15
Variable overhead Q%& f direct labour) N
Selling price p.u. ) 60 <) 100

You are required 40 present a statement showing the mar\gﬁnéi/’/;bst of each product and
recommend whi "eﬁ}e following sales mixer should be adopt\edﬁ

i) 900 units gf:&‘;i;nd 600 units of B i)

(o

i) 1800 un%g\g?m
iii) 1200 upits: )~
iv) 1200 unitsof A and 400 units of B b ZO/C)
v) 1000 unjis of a and 500 units of B o i
vi) 7 Y s of A and 1100 units of B. O@ (16 Marks)
o5 G}
Q‘\)> * ok ok ok ¥ o
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